
Chris has 16 pokemon cards. He exchanges 4 cards with his friend, Pat.
How many pokemon cards does with Chris have now?

13)

A player has to cover a total of 68 spaces in a game of monopoly. How
many more spaces does Elly need to cover to get to the �nish point, if
she has covered 6 spaces?
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Chris has 16 pokemon cards. He exchanges 4 cards with his friend, Pat.
How many pokemon cards does with Chris have now?

13)

A player has to cover a total of 68 spaces in a game of monopoly. How
many more spaces does Elly need to cover to get to the �nish point, if
she has covered 6 spaces?

14)

12 cards. He has only exchanged cards!

She needs to cover 62 more spaces
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